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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

® e

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Economics
Paper II

AL ITET
gyutrent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULEhd THY TR (50) SgOAel U ol ofRd. Yo TR g (2)
U 3Rd. @d U Wi

1. Rationality principle of revealed 1 TSR e gy =2

preference indicates .................... .

(A) Maximization of satisfaction

(A) FHTHMTE HETHIHLOT S0 =[AaH-

and preference to bigger over
smaller bundle of goods oSt 3ifereh %) TR We

(B) Maximization of satisfaction

(B) HHIEMTE HETHIRTOT ST &= S
with the same bundle of goods

TR WIE
(C) Maximisation of satisfaction
despite a decline in the size of (C) TJHRIie et FHIemr
bundle of goods
HEHIRLO

(D) Maximisation of satisfaction

(D) THIEMTE HexHIhLoT AT 2Afeeh -

and preference to smaller over

bigger bundle of goods oSt =IAqH o] TR W

3 [P.T.O.



Match the following :
A’
() Kinked demand curve
(b) Isoquant
(¢) Shift in demand
(d) Upward sloping supply curve
B’

(z) Change in income
(1) Increasing marginal cost
(zi1) Quantity rigidity
(tv) Convexity and non-intersection
Codes :

(@  (b) ) (@
A @) G@v)y G @
B @ O () ()
C) G@v) G G 0
D @) G @ @)
What can you say about an
indifference curve that is positively
sloping ?
(A) Both the commodities are

wanted commodities

(B) One commodity is wanted and
the other is unwanted

(C) One of the commodities is
neutral

(D) Both the commodities are
unwanted commodities

2.
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e ool :

A’
(@) SThER HETU oI5k
(b) HHIRA oIh
(c) WO TR
(d) S R 9%

B’
() 3T Sl

(i) aMed1 faua ==

(i) TTEEAT RgeEd
(iv) STRASRAT STV STEAA
i

(@ B (©© @
A @) () @ @
B @G G (v) ()
C©)  Gv) @i) G @
D) @) G @ (i1)

SR TSI Ish & AN 3T R Tl

HUd faam wad ?

(A) TR IR difsd aK] ST

(B) T o] oifed o gHL STelifed 318
(C) Th oK T Y

(D) I sTaifeq a%q ST




If the commodities are perfect
complements of each other, the
corresponding indifference curves
would be :

(A) Positively sloping straight lines
(B) Negatively sloping curves

(C) Negatively sloping straight
lines

(D) L shaped straight lines

Who were the main proponents of
new welfare economics ?

(A) Hicks — Allen — Sen

(B) Allen — Scitovszky —
Samuelson

(C) Hicks — Kaldor — Scitovszky
(D) Sen —Samuelson — Kaldor
Identify the incorrect statement :

(1) When TR is maximum, the
corresponding MR is equal to
Zero

(z1) When TR is maximum, the
corresponding Ed = 1

(zi1) When TR is rising and positive,
the Ed > 1

(zv) When TR is rising and positive,
the Ed < 1

(A) (1)
(B) Gv)
(C) @)
D) @

APR - 11217/II—A
SR M K] TehHeh 1 JUid0] JXeh ST

(A) ¥4 A=l e I

(B) R0 3dART=ET 9sh

(C) RO A= e 1§
(D) L ARE @Wes I

T HATUTAT AL THE TT&hd
0 B ?

(A) feg — sfem — &9
(B) e — fodisgen — HRI3TEA

fal

C) fesm — saErR — Todeeen

(D) T — HYAAHT — HaeR

ARl Hehial faum slieen :

(i) STeel T Hated 3T degl q&quNTh
qo I ST

(i7) STog1 T Hated 3T9d deg] qeuiTh
ol Sateaehdl = 1 3794

(1) STe&T TYT ¥ F d1ed 3T9d deal HEToft
Adfaehdl > 1 3T9d

(jv) STe&T TYT ¥F 9 d1ed 3T9d deal HEToft
Adfaehdl < 1 3T9d

(A) (@)
(B) Gv)
©) @)
D) @)

[P.T.O.



What can you say about these
statements ?

(z) All Giffen goods are inferior

goods.

(zz) All inferior goods are Giffen
goods.

(A) Both statement (i) and

statement (i) are incorrect

(B) Statement () is correct and
statement (i7) is incorrect

(C) Statement (i) is incorrect and
statement (iz) is correct

(D) Both
statement (ii) are correct

statement (i) and

In the growth literature sigma
convergence refers to :

(A) Poor economies grow faster
than rich economies

(B) Reduction in the dispersion of
income levels across countries

(C) Increase in the dispersion of
income levels across countries

(D) Rich economies grow faster
than poor economies

Ratchet effect relates to :

(A) Life-cycle hypothesis

(B) Permanent income hypothesis
(C) Relative income hypothesis
(D) Absolute income hypothesis

7.
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Erelta faummered Rl ®E 9 ?

() w& fhe a%q = et a5 oA,
(i) Fe fepee =g =1 fTehe o ST&em.

(A) faem () a faum @) & =6 9=
3Tmed

(B) faum () =R a faum (i) %
e

(C) faum () 9% o faum (i) IR
e

(D) faum () 9 faem (ii) B el s
e

sAfugfs wfeeam far sifreromen dqy

TCHclush! HeMe /al ?

(A) T srefeaeen siva steferaedyen

~

Aferer Sm forpfaa giam

(B) GaH® AT I¢q— TIrdial
TRV ¥ B

(C) GaH® [T I¢q— Trdiel
TR a1 oI

(D) #iHa srefesrereen T Teeqaeeyen

haN [

feer S faesfad giam@

Aferd! IOy Wiefictdeht ShImeit Heifed
e ?

(A) StaTash aRehedHl

(B) Rt ™ giteRed

(C) @Tel IOARI IReheaH
(D) Uy 3= aRehea




10.

11.

In permanent income hypothesis,

transitional income has :

(A) Positive and high correlation
with permanent income

(B) Positive and low correlation
with permanent income

(C) Zero correlation with permanent
income

(D) Negative and high correlation
with permanent income

Match the following :
Statement I

(a) Inventory approach to money
demand

(b) Adaptive expectation
(¢) Lower turning point
(d) Life-cycle hypothesis

Statement II
(7) Edmund Felds
(i1) John Hicks
(zi1) Franco Modigliani
(tv) William Baumol
Codes

(@ & (© (@

A @ (i2) @) ()
B G O @) ()
C) @ O () ()
D) @ O ()  Gu)
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10. TR 3T Yieheqd HshHUTShTA Scd—

Ecteiieht % TR ?
(A) TR o™ S FeEdd Ueh
YqIcHeh 3T 39

(B) TR ™ Selid Feddd o
=

(C) T ™ T FeHa e oeh
HeA A

(D) TR 3T TR FEHaY U Ted
HUMHE A0 I=9

11. Sirean Jeoal :

faam 1
(@) TST= HRTURET WiEl giesH

(b) TTHTH ST

(c) Tme= e foig

(d) Stta-<sh qReRea

faam 11
(i) USHE Wheed
(i) S e
(ifi) Tehl AT
(i) Taferam SfsHre
Wiehdiah :

(@ b)) (@ @

A @ (1) (i) ()
B @ O () (@)
© @ @ (i) ()
D) @ (v) ()

[P.T.O.



12.

13.

Select the right answer from the

options A to D given below :
Assertion (S) :

Long-run Phillips curve shows no
trade-off between inflation and
unemployment.

Reasoning (R) :

This is because individuals have
rational expectations regarding
future inflation.

(A) (S) is correct and (R) is correct
(B) (S)is correct and (R) is incorrect
(C) (S)isincorrect and (R) is correct

(D) (S) is incorrect and (R) is
incorrect

According to Cambridge version of

demand for money, velocity of

money circulation will be constant

if :

(A) Money supply and nominal
income

change in equal

proportion

(B) Money supply increases at a
higher rate than nominal

income

(C) Money supply increases at a

lower rate than nominal income

(D)

Money supply has no relation
with nominal income

12.

13.
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TEAAUsh! A O D TIEmEA 9 3|
IREEINE
gfaureT (S) ¢
reiehreny fRfaed sk geifemdr sifur
SUSAIR I F9ed Hear qifad.
Ffertae (R) :

AT RO Tl GEIfEhdtelreid ekl fereieh]
TS WY STHA.

(A) (S) SR 3for (R) seR

(B) (8) SR =mfur (R) =%

(C) (S) T& =mfur (R) sIsR
D) (S) I& A (R) Ik

Tomaret AT HEiS AT AR

T Temer yorm feer @ SR

(A) YT QRS ST AIfHa Sea AT
ST HAYHIONG Tl T

(B) R SR a1 A Seq=ie

e SR < AT

(C) NI ISR TG ATHA Scq=Ten
3T H AT

(D) Tt Qe 7o e Seq= A

Y I




14.

15.

16.

Which one of the following is not
part of the classical approach to
determination of output and
employment ?

(A) Say’s law

(B) Wage-price flexibility

(C) Savings-Investment equality
(D) Money wage rigidity

When the population growth rate of
an economy becomes greater than

the achievable economic growth rate,
it is known as .......cccceeeeees .

(A) Population Explosion
(B) Population Trap
(C) Population Crisis
(D) Population Cross

Make a choice of the correct sequence
given by Karl Marx for development
of society :

(A) Primitive
Feudalism, Capitalism,
Socialism, Communism

communalism,

(B) Primitive

communalism,
Feudalism, Socialism,

Communism, Capitalism

(C) Feudalism, Primitive
communalism,

Capitalism, Communism

Socialism,

(D) Communism, Capitalism,
Socialism, Feudalism, Primitive

communalism

14.

15.

16.
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IcaeA i e feiome 21fimd

gfieshMId elieTusht el 9T FHIfas
e T ?
(A) ‘| = f=H

(B) ddi-forad oIafeehd

(C) Tq-T[qevh T

(D) YeTciier AaAged

Jegl AAZTEEAA ARIL JGEL @l
IS SN TG QU ST STEl, gl

N

(A) AREET faeme

(B) SIhEEAT HIUD

(C) dRgE A

(D) SAeRgE B

I HER AT HifTdeiedT THTSTolsh e

STEEeA WeHld STE® % A

(A) TEFSTIEETE, SSTHRIE!, TS aese!,
USRS, Aag

(B) WM SIAFaE, GISTHRTR!, TSR,
AR, YSaase!

(C) TISTHIE!, WA S, GHSER,

ATSTAINE!, A

(D) 9FEE, ISadvTel, HHSERE,

hd o o
TSTIRME!, WA ST
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17.

18.

19.

The theory of “Big Push” is
propounded by .......cccceeeeennnnn... .

(A) Arthur Lewis

(B) C. P. Kindelberger
(C) Rosenstein Rodan
(D) Karl Marx

Which one of the following is
important aspects of the concept of

sustainable development ?

(A)

Intragenerational equity and

intergenerational equity

(B) Intergenerational equity and

intragenerational inequity

©)

Intragenerational inequity and

intergenerational inequity

(D)

Intergenerational inequity and

intragenerational equity

Which one of the following is better
measure of degree of income

inequality ?

(A) Kuznet Hypothesis
(B) Gini Coefficient
(C) Poverty Line

(D) Lorenz Curve

17.

18.

19.
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‘yae e’ fagm
YK hell 3R
(A) TR Afed
(B) ©i. dt. fReear
(C) e Tem
(D) wTei A1

MY forehr Hehoam= Selieiieh! Shivw
T " U9 e ?
(A) Toeararia = =for STafueamei

i

(B) fiaifuearmtiar = anfor et
S I

(C) Toeumaia 2= 1o STicRfueme
T

(D) iU 3= e1ftr fuewiaia
=

I fIomar U= "I Seliyen]
HIG Tk IIH YT A ?

(A) e TRIAE
(B) firft women
(C) M= Yo
(D) @R o
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20.

21.

Match the following :
Investment Criteria

(a) Capital turnover ratio

(b) Social marginal productivity

(¢) Reinvestment criterion

(d) Time series criterion
Economists

(@) Dr. A. K. Sen

(i1) Galenson and Leibenstein

(ii)A. E. Kahn and H. B. Chenery

(iv) J. J. Polak and N. S. Buchanan

Codes :

(@ B © @
A @ O @) (i)
B) (i) @) ()
C©) G G @) (i1)
M)  Gv) G G G

“Underdevelped countries are the
slums of the world economy.” This

statement is stated by ................... .
(A) Ragner Nurkse

(B) A. K. Cairncross

(C) Colin Clark

(D) Jadgish Bhagwati

20.

21.
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SIERIESICII
e e
(@) WiEad IR TORR
(b) WIS HHG Scdreehel

(c) GTjqauer frehm

(d) & gEen ey

arefas
() = T & T

[ o S o

NIERIESA!

(ii) Tera 9
({i))T. 3. A 9 T ot =94
(v)S. . Ok F TA. TH. J&EA
Hichdieh :

(@ b)) (© @
A @ o G @)
B @ @ G ()
©) G Gv) G GD)
M) Gv) G G G)
" foreRfaa T § SIfaes sTdereRd=
e e ¥ fEE
I TG ol IR
(A) TR
(B) W . H3Mshd
(C) =IclA oTh
(D) ST HTerdt

11
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22.

23.

24.

Marginal damages ..................... .

(A) must always be considered in

social marginal cost

(B) must not be considered in social

marginal cost

(C) have nothing to do with social

marginal cost
(D) Are not part of social loss
Which of the following is correct ?

(A) Traditional budgeting focuses

only on goals

(B) Zero based budgeting produces
a single level of appropriation

for an activity

(C) Traditional budget starts with

last year’s funding appropriation
(D) Zero based budgeting does not

consider alternatives

In the context of Government of
India budgets, which type of deficit
is suggested by the formula : Total

Receipts—Total expenditure :
(A) Revenue deficit

(B) Primary deficit

(C) Budget deficit

(D) Fiscal deficit

22.

23.

24.
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o Jearr foem

(A) FifSer Toaid E=id J8d o
RIS

(B) wmurfesr foHTad TrEiq swIuam=d
ARl TR

(C) HrTtSIen fomia wr=telt Hafed =l
(D) @ 9HIfSeh JREHET 9T A&
TTeAeieh! HIod a8 ater TR ?

(A) TR SSSYSR T Igdid e
SeuTEn fomamR el Sl

(B) T[=TENd  SIQTSIUSHRIqA  Teh
ThTE  UTdea®
faf&eE & S

R 3TETSIssh  HEiel o=

ElERIERIEISE RIS BSIN]

(D) TATHRG SR g faar
Hell S AR

IRATAT ALHHETTHE THU FegA—

TehUT T 31 AR UM G Fetere!
S ?

(A) Heqell e

(B) WiafHeh &
(C) ST T2
(D) TSERSE G2

SUHATITS]

(C)

12
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25. Which one of the following | 25. 2003 = USHSA SeERR 0T 3795-
statements is noi laid hefore Hehod1d SHerETT ShIEEiaid Srelieieh]
Parliament under F.R.B.M. Act, - N

' " U gk 99 Ahadd "wied S|
2003 ?
AEr ?
(A) Macro-economic Framework
Statement (A) U T et faerorTs
(B) Medium Term Fiscal Policy (B) HEAHHG! TSTehlsy €07 foraorgs
Statement e e
(C) drmden Ta< Taaor=
(C) Annual Financial Statement
(D) Fiscal Policy Strategy Statement D) FaetHnl et

26. Imports are taxed but exports are | 26. IO TR FfTeR = 7 b
not taxed under : AR Y ARl Sl 2
(A) Residence principle (A) famETem o=
(B) Origin principle (B) SRUEIH
(C) Destination principle (C) TRy e
(D) Source principle (D) i el

27. According to the budget estimate of | 27 31efgsheq 2015-16 =0 \J,{qM@HH TR
2015-16, the external debi ot TTeSIeh Shofeal YA fagsit e
Government of India was about | 5
........................... of the total public ’
debt. A) 1.5 T
A) 1.5%

) L% (B) 2.3 =¥
B) 2.3%
(C) 8.7 TFh
C) 3.7%
(D) 4.5% (D) 4.5 TFh
13 [P.T.O.



28.

29.

30.

According to the recommendations
of the 12th, 13th and 14th Finance
the

percentage share of states in the

Commissions in India,

total central tax revenue was
....................... respectively.
(A) 30.5%, 32% and 42%
(B) 29.5%, 32% and 42%
(C) 27.5%, 30.5% and 32%
(D) 30.5%, 32% and 45%

Which
exception to Linder’s Spillover
Theory ?

of the following is an

(A) India Exporting Ganesh Idols
(B) China Exporting Ganesh Idols
(C) US Exporting Chrismas Trees
(D) Scotland Exporting Alcohol

Which of the following terms of trade

concept attempts to capture

productivity in the export sector
and import competing sector of a

country ?

(A) Double factoral terms of trade
(B) Gross Barter terms of trade
(C) Net Barter terms of trade

(D) Income terms of trade

28.

29.

30.
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YRATd 1241, 1341 qfor 14 fomi-
AT RIARETER Sy SXeh=
TeRU Hegaia Usaren feem sty

(A) 30.5%, 32% 3701 42%

(B) 29.5%, 32% 3701 42%

(C) 27.5%, 30.5% 301 32%

(D) 30.5%, 32% 301 45%

TITeATAdh! HITaT fae=ar Figau
fgge 3T9ae e ?

(A) W Sl STHAA TORT i< fafd
(B) =19 sl 3t&eieit TorT Hfi= fafd

(C) STHITRT il S&etedl g 2 =i
REIG

(D) Whicde d ATl Far= 4
AR BAIR! RO FoheaT
e e e &9 e e
e &Sl Scagehdl @ad Hd 2

(A) fgoess =AMt

[

(B) Hehdd &7y

ST

(C) e axgfafma sAmaRe

(D) SO SHATIRITT

14



31.

32.

When exchange rate changes from
$1 = Rs. 65.22 to $1 = Rs. 67.27 due

to market forces, it is called as :

(A) Devaluation of Rupee

(B) Revaluation of Rupee

(C) Upvaluation of Rupee

(D) Depreciation of Rupee

Match the following :
A’

(@) Product Cycle Hypothesis

(b) Spillover Theory

(c) Availability Theory

(d) Price-Specie Flow Mechanism
B’

() David Hume

(i1) Vernon

(zii) Linder
(iv) Kravis
Codes :

(@ B (© (@
A @) i) Gv) @
B @ O @) (@)
C) @) @ ) (@)
M @ @) @ )

31.

32.

APR - 1121711—A

Stegl fafa R $1 = T 65.22 I&A
$1 =T 67.27 391 AR IS TGAdT

P S— 5 TR,
(A) TUAME 3T
(B) TTAM eI
(C) THAMN HEqead
(D) TUAN Hoae™
SIERIISCEI
A’
(@) I =sh TRehe
(b) wrEau fHgm
(c) Sucteer gt
(d) frma-ifaess 9q gamg ==
B’
() <fwe T
(ii) A
(i) fefet
(iv) hifad
Hichdieh :
(@ B (© @
A @) @) Gv) @
B) @ @ (v) (i)
C) @) O () (@)
D) Gv) @) @ @)

15
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33.

34.

Statement I :

to Adam Smith

International Trade takes place on

According

the basis of comparative advantage.
Statement 1II :

The principle of absolute advantage
is at the focal point of David
Ricardo’s theory of International
Trade.

(A)

Statement (I) is incorrect and

statement (II) is correct

(B)

Statement (I) is correct and

statement (II) is incorrect

(C) Both the statements (I) and (II)

are correct

(D) Both the statements (I) and (II)

are incorrect

One limitation of absorption
approach to Balance of Payments

adjustment is :
(A)
(B)

It assumes a constant income

It assumes a constant terms of

trade

C) It

aggregate expenditure

assumes a constant

(D)

It assumes nominal devaluation

of currency

33.

34.
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faam= I :

ofen fe=n #d AW SATIR
qreT-leh eYTeR SATenRd STl

faam= 11 .
S aa axa efegs Reprei=n

AT IR Fag=ar=a hgeart

3TTE.

(A) faem (1) ek e 3for faem (11)
ERELEIF

(B) Taum (I) IeR 27g 7fur faem (I1)
T 38

(C) faum (1) st faem (1) =1 sie]
aTed

(D) faum (1) snfor faem (1) S ==
3Ted

SEERAIT=A] STERIO0] §IeZehT=l Teh

(A) fer 3= Tfed R o

(B) STURINT feeR sTedr™ Tfed Xt
e

(C) TR W w4 Tfed oxem TR

(D) T == AHAS STaHedd fed

¥ReA 318
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35.

36.

According to Vernon, which is the
source of comparative advantage for

developing countries ?

(A) Cheap labour combined with

imported capital

(B)

Imported capital combined with

innovation

©)

Innovation combined with

cheap labour

(D) Cheap labour combined with

high technology adopted

through imitation

The working of Indian monetary

system was studied by ................... .
(A) Urjit Patel Committee, 2010
(B) R. Gandhi Committee, 2005
(C) Chakravorty Committee, 1985

(D) Narsimham Committee, 1980

35.

36.

APR - 1121711—A

A=A Ha TR &gl S9mEel drefen

AT G IO SAHal 2

(A) 3T WISTdHg & 9H

(B) ToYad-THE 3T MiSad

(C) WK LHEE Taqedd

(D) SIHTOMTAT HILHHT T hReAeT

3= dIRHE W o

RATdI AT SHaEI=I]  ShTHR TSI

(A) 3fSa 92 gfadt, 2010
(B) IR T gfEdt, 2005
(C) wehadt |, 1985

(D) RfEgq Gffdt, 1980
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37.

38.

SAFTA stands for .....cccoevvueeennn... .

(A) South Asian Foreign Trade

Association

(B) South Asian Free Trade

Association

(C) South African Free Trade

Association

(D) South Asian Financial

Transaction Association

Annual percentage growth rate of
India’s GDP in July 2014, July 2015
and July 2016 was ............  eeeenennens

................

respectively.
(A) 7.1, 7.5 and 6.7

(B) 6.7, 7.1 and 7.5

(C) 6.7, 75 and 7.1

(D) 7.5, 7.1 and 6.7

37.

38.

APR - 1121711—A

‘SAFTA’ @rcileideh! shrd <gifaar ?

(A) 9RY THIH B ¢S SHHITEH

(B) 9=3¥ TH3H Wl ¢S I

(C) 9= ARk Wl <€ SAUHTH

(D) 939 THI HRARETA e

ST

RareA GDP Aefie anfdes ggiel o

2014, 1 2015 T JoI 2016 AL

(A) 7.1, 7.5 =7fur 6.7

B) 6.7, 7.1 ot 7.5
(C) 6.7, 7.5 =7fur 7.1

D) 7.5, 7.1 =7fu1 6.7
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39. Which one of the following

statements is correct with respect
to India’s Foreign Trade Policy

2015-20 ?

(I) Export target set for 2019-20 at

US and 900 billion

(IT) India’s share in world export to
be raised from 2 percent to 3.5

percent

(III)Foreign Trade Policy to be
alligned to make in India,

Digital India and Skill India

(IV) Foreign Trade Policy will be

reviewed annually
(A) (I), (II) and (III) are correct
(B) (II), (III) and (IV) are correct
(C) (I), (IIT) and (IV) are correct

(D) (I), (II) and (IV) are correct

APR - 1121711—A

39. WATIUeh! whIUd Teh faem WA=

faesl =R 9Ror 2015-20 =0 Heuid
Ih A ?

(I) =d 2019-20 a1 fafkd= @&

o0 o A2 o

900 fafez™ AR sfer fAfy=a

el I

(I1) WA= Srifaes fafddae feemm 2

b 989 3.5 ZHh TAd el

(III) foes =oMIR &R Aeh 39 sfean,

faSll o M

fefSea sfean snfor fera sfean =

Sreu

(IV) foeeht =R «Rom=n aftes sTerEn
oy

(A) (D), (II) =7for (III) 3= 3Ted
(B) (II), (III) sTfor (IV) 3T 3Ted
(C) (I), (IIT) 3mfor (IV) 3Teeh TRd

(D) (I), (II) 3ufor (IV) 3Tk 3Ted
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40.

41.

FRBM is the abbreviation of :

(A) Fiscal Responsibility and

Budget Management

(B) Fiscal Regulation and Budget

Management

(C) Fiscal Revaluation and Budget

Management

(D) Fiscal Representation and

Budget Management

Which of the following is not the
member of G-7 group of countries ?
(@) USA
(2z) Russia
(i11) France
(fv) Japan
(A) @)
B) @

(C) @)

(D) @)

40.

41.

APR - 1121711—A

FRBM = Ui €9 %™ ?

A) e feaftafafeet sfe e

N

(B) fhehal LYo 3T anie WA

(C) Trere RETEM sfe aeie HHsie

(D) Trera YA 3fe aue HeHe

TEAeR! ShIvTl < G-7 TR TR
2

() IR
i) e
(ti1) HTH
@v) 9T
(A) @)
B) @

(C) Gv)

(D) @)
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42.

43.

44.

Nobel Prize in Economics for the
year 2016 has been given to Oliver
Hart and Bengt Holmstrom for their

contribution to ................... .
(A)
(B)
©)

Imperfect competition
Contract theory

Limits of state intervention

under market economy

(D)

New horizon of game theory
Micro Units Development and
Refinance Agency (MUDRA) Bank
was launched by Prime Minister
ON e .

(A) 8th April, 2015

(B) 14th April, 2015

(C) 2nd October, 2015

(D) 14th November, 2015

In descriptive statistics, we study :

(A)

The description of decision

making process

(B) The methods of organising,
displaying and describing

data

(C) How to describe the probability

distribution

(D)

Research planning

42.

43.

44.

APR - 1121711—A

2016 1 et VM Aelel TRaASeh
3ffeteet B ST S BIeHer™ a1 =

ANEHEgE foed T,
(A) Ul T
(B) R fogr=<

(C) ITSTRYTNG STefegawdd IMEhg
TEAITET HIieT

(D) Wes Tagrr=n =et fafas

Hed Teeewh o 9 qAfda iyt
(q31) o JaueHrE g
feoelt g& et

(A) 8 T, 2015

(B) 14 Twii™, 2015

(C) 2 R, 2015

(D) 14 TR, 2015

VAT WA HES S0 W Teish!
IOl STeel YA Hdl ?

(A) fofa wfwa=s 9uF
(B) 98 gHfeq, wefyfa smfor =ofq

FLIMEES! ATATII IR Tgd

(C) TYrFdT faawor My Fuiam

O HICERERISE]

21

[P.T.O.



45.

46.

47.

Base year quantities weights are

used in :

(A) Laspeyre’s method
(B) Paasche’s method
(C) Fisher’s ideal method
(D) Consumers’ index

The overall goodness of fit of
the regression model is measured

by oo, .

(A) Coefficient of variation

(B) Coefficient of determination
(C) Coefficient of correlation
(D) Coefficient of association

If “time” is used as the independent
variable in a simple linear regression
model, then which of the following

assumptions could be violated ?

(A) There is a linear relationship
between the independent and

dependent variables

(B) The residual variation is the

same for all fitted values of Y

(C) The residuals are normally

distributed
D)

Successive observations of the

dependent variable are

uncorrelated

45.

46.

47.

APR - 1121711—A
3MYR T8 YR TRATY WeAeTteh! shiore
TSdid SUARTT STO0A o ?

(A) HUSTE Ugd

(B) WiwES Hgd

(C) TR emeel 9sa

(D) ureeh e

THISAU YIHAR TS FHdehl

(goodness of fit)
ST

(A) fo=ror TumeR
(B) TH&iRor qomen
(C) TREaY O
(D) WE=d Tl

e T gfqeE e gfaaee e’ @

TS I STANE ST SIeierueh

VA Tfed 1 BvATET YERIAT 38 ?

(A) a3 3T STacfad =t il o
T TR

(B) smafyrse fa=ror Y =1 &d sramaferd

SIS B

(C) TafyTer™ faaiur o= We e

(D) Aacfad Ie= IuuR e

Hegsfed el
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48. Index numbers are expressed in : | 48 fderieh Teiierosh! hemeaT gR Forert
FOIT A ?
(A) Ratios
(A) FHIT
(B) Squares
(B) =
(C) Percentages ©) -
(D) Combination (D) aga%ﬁw
49. Which of the following is not based | 49. @il HIVQ HUT Tag HU&OT=
on all the observations ? YR HL0I A ?IE:T ?
(A) Arithmetic Mean (AM) (A) T Ae
(B) Geometric Mean (GM) (B) Q{&I?ﬁ'q qeg
(C) Harmonic Mean (HM) (C) wHaRl A&
(D) Mode (D) SgoiE
50. If all the values are of equal | 50. Ha9 e ¥AM He@ VAN ST
importance, the index numbers are FrTieRTen TEieie HE TRUA 2
called :
(A) wifq
(A) Weighted
(B) 31wifa
(B) Unweighted
(C) Composite (C) Wi
(D) Value Index (D) Hea faderen
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